Active Wallmount
2UYIU UaadATI 3u L36
Aifofn

Installation guide
AT TOHRY

70 MM

300x300

=

45kg 19"-43"

I/

(x6) M8 concrete anchor

A (x4) M5x16 screw
B (x4) M6x16 screw
Cc (><4)T><163crew
D (x4) MBMBIMS Washer
E (x6) M8 Bolt

E

G

(x6) M8 Washer

gunselfidesiiviialdlunsiinge

STEP1-A (sumauii 1A)

EN | Solid concrete mounting

TH | finstoumenialsl
JP a2V - EDHMAIT

STEP1-B (ﬁy'umauﬁ 1B)

EN | Wood Stud Mounting

TH | fassunniiomannia

JP | REEOMAHMLT

STEP2  (Jypnouii 2)

EN | Attaching Brackets To Screen

TH | fisseuzamdniuasiii

JP | FLEEXHEEEFOCL

STEP3  (Jumauii 3) o L.
AAGILNANZIUIWEAUA WA

— Attaching bracket to screen with flat back
TH | fiesawandivanueiuaeis ”n

JP | TLEEXHEERDCL

EN | Attaching Brackets To Screen

aoda & d o Y
1.8nAINGRMAI2ILEIN (Bracket) NNAIRBUAT
& B o o o, o
FWARRIAUWANTA TN magUT 1

o @ ,,, . o = o
2. 4B UDANTURTINDER EI’]NE‘UVI 2

. 9
ALEID

o o . ‘o 5 cd o o o o
1.LWE]ﬂ'J']NUa@E]ﬂEIﬂEm’?E]’]%@NEI LLﬁZiﬁqﬂﬂimﬂN'lﬂUNﬂl'ﬂﬂm’ﬂ

2. mnifindymiundadmd Tddsndusnfgudusnisiiorinsuilalaedneg@hwignsying

L!

@
uan.uaataui (Uszinalne)
90 DUUITING UBNYINUES LUALNLLY ANK. 10230
9 : 02-945-4509-12/ 061-5454529
uing : 02-945-5452
www.|eonathai.com



